B I (Three Year G)
Under 1+1+1 System

2017

HISTORY (General)

FIRST PAPER
( Revised New Syllabus )

e + 2 hours Full Marks : 50

res in the margin indicate full marks.

(within 500 words
15%x2=30

somie condition of the
y Vedic society. What were
hanges in the later Vedic
- period? 10+5
Analyze the causes of the decline of the
Maurya empire. How far was Ashoka
responsible for this? 10+5

Who were the Sungas? Trace the rise and fall
of the Sunga Dynasty in India with special
* teference to the role of Pushyamitra Sunga. 3+12
Trace the origin of the Kushans. Give a
eritical estimate of the achievements of
Kanishka 1 with special reference to his
patronage towards Buddhism. S0
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(2)

Category—II

wer any one question (within 250 words) :

) ¥

,Giv'é.'an account of the Harappan trade.

6. Give an account of the Gandhara School of | .
Art. %!

Category—IIl

~ Answer any three questions (within 50 words

i‘a-Ch) % 4X3=‘ 7_4

®. What is the historical significance of
Kautilya’s Arthasastra?

8. Who were the Tirthankaras? Name the first,
twenty-third and the last one. il

9. Write a short note on Rudradamarn.

- 10. What is the importance of coins as historical
' sources?

Write a short note onl Briji.
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B I (Three Year G)
Under 1+1+1 System

2017

" _ HISTORY (General) '
& Ug 5 s 1
' SECOND PAPER

'n.:(; Revised New Syllabus )

. e A A7 e, el v R Al S
" T Full Marks : 50

. TEAEA T T wikm feorel fafted in indicate full marks.

. ferefrs e % w9 7 Rl w1 0 wE 87 -
500 words

. . 5x2=30
. WIAETEs < gidErd o ged | 4 &7 s
- ' ‘otc' on the career and
. g T o Gk T ffed : of Sultana Razia. What was the
| ce of her reign in the medieval
history of India? j 10+5

iscuss the economic reforms of Sultan Firuj
h Tughlug. : 15

hat is Khalji Revolution? W_hat‘ was its
ipact? 5+10
o
uss the significance of the Hussain
Shahi rule in Bengal. 15
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~ Answer any one question (within 250 words) :

6.

(2) (3)

Category—II [ BENGALI VERSION |

fem—=
8 ©ag e (eieIRib ¢ 0o NCH W)

Do you think that the Delhi Sultanate was a

theocratic State?
SEx3=90

Write a short essay on Sufi Movement. | . At &M @z Flece FRCATCAL=TR

I B | YRR SReed 2OAGT OIF XIS
Category—III % | $oke

Answer any three questions (within 50 words |

7.

8.
9.
10.

1.

each) : 4x3: " Mz g e Amaf

e
Write a short note on Bandegani

Chahelgaon.
Write a short note on Harihara II.
Write a brief note on Ibn Batuta.

Write short notes on ‘Patta’ and ‘Qabuliyat’,

Write a short note on the Battle of Panipat JE¥ m AT T M8 (¢0 X ) :

1526 AD). ;
( ) F1 R ot e o gl e 7 foero

What were the major  technological
developments during the Sultanate period? .! ) WeweTcTs Soe @i ey fAgm 5 999 |
: R
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(8) et . ‘ B I (Three Year G)
Under 1+1+1 System
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: 2017
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;. HISTORY (General)

‘ THIRD PAPER
3. e hiel H §U UEA qohAich! faehma = =
e i ( Revised New Syllabus )

.'* * K Full Marks : 50

©s in the margin indicate full marks.

Category—I

p questions (within 500 words
15%x2=30

circumstances leading to the
séen Mir Qasim and the English
Jompany in Bengal up to the

! 15

you explain the problems of
’? How did it affect the Indian
8+7=15

the role of Raja Rammohan Roy as
ther of Modern India. i 5 ot RS

for the outbreak of the ﬂrm
al in 1857. What was its character?
8+7=15
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Category—n

any one question (within 250 words) :

Give a brief descrip’tf:dn of the Santa

Rebellion.

6. Write a short essay on Prarthana Samaj.

Category—IIl

Answer any three questions (within 50 word
each) : 4>

What do you mean by the term Dewani’?

Write a note on ‘Doctrine of Lapse’.

Discuss the role of Vidyasagar in
emancipation of women.

- What is ‘commercialization of agriculture’?

1 . Was the Young Bengal Movement a ra.ciic

movement in nature?

2 Write a note on Rangpur Uprising.
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B II (Three Year G)

Under 1+1+1 System

i \J_ﬂ ‘
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e F-sl a\,a\a !

FOURTH PAPER =
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e ﬁﬁq T W Th femoft forfed |
( Revised New Syllabus )

. mﬁ%wﬁﬁam%ﬁ*maﬁmﬁml
A Irs Full Marks : 50
‘N 1 Rl A w1 A 87 _ in the margin indicate full marks.

. W 9 39 9 @ wend & f o s s Category—I
B i |  two questions within 500 words each :
i 15x2=30

4 the socio-economic condition of
during the rule of Imperial Guptas.

. e e 0 fol R
15

¥ kA
‘ n account of the Tripartite Struggle
the Palas, the Pratiharas and the
cutas. What was its significance? 10+5

account of the Chola art and
15

re.

sre the political and cultural effects of
e g 15
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(2) P (s

Category—II - | BENGALI VERSION |
Answer any one question within 250 words : " 5 -
Ret—=
in Varendra? How would you define baq s (¢S5 ¢oo *TIq W) :  Saxy=90
nature? g
Do you think that Skandagupta may § o erCed WIS oW B
called the ‘Savior of India’? , Se

il ma@fﬁw T e wgeda [
Category—III T

Answer any three questions within 50 worl
What is the historical value of Allaha b
Prasasti ?

What does ‘Matsyanyaya’ in Gauda mea
How did it end? 1

Why did Nalanda become so famous
ancient India? '

. Who was Atish Dipankar?
Write a short note on ‘Ur’ and ‘Sabha’.

Write a short note on Aryabhatta.
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" the causes of downfall of the

B II (Three Year G)
Under 1+1+1 System

FIFTH PAPER

vised New Syllabus )

Full Marks : 50

$ in the margin indicate full marks.

"

Category—I

wo questions within 500 words each :
P 15x2=30

h# the evolution of Akbar’s religious
Explain the concept of Din-i-Ilahi. 10+5

neant by the Mansabdari system?
main features. 15

sgsay on the internal trade during

period. 15

15
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Category—II

Answer any one question within 250 words : |

- 5. Evaluate the writings of Abul Fazl

Badauni for the study of Medieval Indi

History.

6. Write a brief essay on the irrigation system

the Mughals.

Category—III

Answer any three questions within 50 wor

each :

Write a short note on Bhakti Movement-.j

Write a brief note on Todarmal.

What is Jagirdari Crisis?

What were the major Indian seaports duri

the 17th century?

|

Mention two causes of conflict between ,.

and the English East India Company.

12. What do you mean by ‘Estado-da-India’?
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(8) | B II (Three Year G)
' Under 1+1+1 System

e
o=l 7 Tl o ST I qo-4o Wl F RAR
At AT=ler T e Hfim Rt fified
. TS W T wfiw feof fafad i .' ‘SIXTH PAPER

. Sfert e 7 27 | Revised New Syllabus )

. ARl AT % SNH YgE m«ﬁwawsa?mﬁe‘r 1 Full Marks : 50

. R w sid $ 4R T 5 e g
3 it v A

“TEARI-eT-3RE’ @ S F Ty £7

n the margin indicate full marks.

Category—I

___""q'uestions within 500 words each :
15x2=30

role of the moderates in Indian
fom 1885 to 1905 AD. 15

events leading to  the

ation Movement. Why did Gandhi
it? 12+3

the basic features of the tribal

with particular reference to ‘Kol’
imovements. 15

(@ the factors that led to the
0 dia. 15
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Category—II

Answer any one question within 250 words :

5. Assess the contribution of the Aligar
Movement in the Muslim revivalism.

6. Write a brief note on the Swarajya Party.;
Category—III

Answer any three questions within 50 Wo

Mention two merits and two demerits of
Lucknow Pact.

Trace the origin of the Boycott Movement.

Write a short note on the First Round Tab
Conference.

Write a brief note on the Harijan Movexheﬁ

What do you mean by ‘Tripuri Crisis’?

What was the ‘Rajaji Formula’?

MR7/376
R7/ ( Turn Over )




(4)

@~ foafb soeq Teg s (2l ¢ o zam wean)

U1 AR pfe 1S e sk 1S A ficey Seay 3

b | I SIS Seoife e oy |

1 % OOl (GRE (39 Soic Ree SCaoe 399 1

S0 | 2RER SR ToofcS SR STEAD 37 |
ER I Tl i Crach = e S )

3| e AfReEen’ & o o

MR7/376 ( Turn Over )




(6)

[ —— | [ HINDI VERSION |

A S o T R .. .
.. WWW’JNW&WW@@W' WL T 0000 st 3 Pt R4x3=30
. SR SRR SRR SR ' i
. T TS 2 e WA S SregRig
- B STrIereR Teer §fim A gy
. Bl e R ® gt

. et afEew F A1

MR7/376 Contin k. ( Turn Over )




(8)

WUS—TT

Tl Wt Tl 6 S AT Go-4o et # foafld

. TS G & & el ud & w5 Ig

g aneter & snfasia @ @it il |
. WY TieHs gie T wfEm foof fafad
. TieH erer T afa foft fafed

“Brght w2’ A oy N W 87

TSt g

MR7-—48370/376

B III (Three Year G)

Under

2017

1+1+1 System

HISTORY (General)

SEVENTH PAPER

Category—I

New Syllabus )

Full Marks : 100

'es (n the margin indicate full marks.

questions within 550 words

term ‘Mercantilism’.
tures?

20%3=60

What are its
5+15=20

scuss the reforms of Napoleon as

s, Why did it fail?

role of Mazzini,
ltalian Unification.

20

5+10+5=20

Cavour and
20

ity of Versailles a ‘dictated peace’? . 20

nalyze the major causes of the

ld War.

20
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Answer any two questions within 300 words each :
10x2

Answer any four questions within 50 words each : ]
5x4

11.
12.
13.

14.
15.
16.
17.

18.

(2)

Category—II

Write a short essay on Martin Luther.

Write a note on Scientific Revolution in

Europe.

Define Scientific Socialism.

Write a brief note on the Economic

Depression in Europe in 1930s.

Category—III

What do you mean by ‘humanism’?
Who were known as Puritans?

What do you mean by ‘Third Estate’ in thf
pre-1789 French Society?

What is Nationalism?

What do you mean by Triple Alliance’?
Who was Lenin?

What is Nazism?

Define decolonization.
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8 b
( ) R ] (Three Year 1)
Eihder 1+1+1 System

3. AWINE THISEE ¥ o = aen §7

Ro. 2R3 % 3WF A Y # =y o 7 W
e ford | 1

IRY (Honours)

T >
et = et % S d (v qo W ) - FIRST PAPER
2. HIERER & S o T € | d New Syllabus )
R wfe w9 97 : Full Marks : 100

?3- E?I'H ﬁ }Tﬁ \9 W ¢ . b
R e o7 S Hes GE he fmc.trgin indicate full marks.

2¥. FER ¥ 19 11 gHe §7 Category—I
estions within 750 words

4. ‘“Triple Alliance’ ¥ =19 @ A 87

8. WM & a@1?
portance of the archeological
- reconstruction of ancient

Yo, AfErE & ST o wER & | _ 4
ve. w4 ahori 7 1 |

vements of Chandragupta
pire Builder. 20

~(ireeks? Discuss their
ons in the history of India

ments of Minander.
: 4+16=20

MR7—44160/7 ‘
. { Turn Over )




(2)

4. Estimate the role of Chandragupta II towar _
the greatness of the Gupta Empire. _ IR s within | 100 words
Vikramaditya legend have any associati : ' 5x4=00
with the name of this king? 4 :

| historical importance of
Trace the rise of Kanauj under ¢t Wfarangini>
stewardship of Harshavardhana. Can he. .
called the ‘Lord of the North’? : lutory and proto-history.
What do you mean by the term ‘feudahs. Wt of Tndits seals
Do you agree that the practice of granti p
tax-free land gave b.1rth to the feudalism B ctiotis of ‘Sabhis and
6th century AD India? + B edic age

Category—II . on the confederacy of Vriji.

mean by ‘Danda Samata’ and
mata’?

il the fourth Buddhist Council?

culture in India? ; :
& outcome of this Council? 1+4=5

Write a note on the art and architecture.

the Harappan people. amitra Sunga? Was he really

What was the position of women in
Rig-Vedic society? Do you find any’ change |
their position in the later period? 5

Describe in brief the irrigation systern "
ancient Incha

MR7/45




B I (Three Year H)
Under 1+1+1 System

Full Marks : 100

the margin indicate full marks.

Category—I

e (uestions within 750 words
20x3=60

it of Tripartite Struggle among
Rashtrakutas and Gurjara-
its  historical -
14+6=20

factors for which the North
led to resist the Turkish

20

identified as the real founder
itanate and why? 2+18=20
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4. Trace the evolution of the Ulemas. Do i itegory—III

think that the Sultanate was a theocr B s within 100 words
state? - ! 8;
Trace the origin and development of Bh
Movement in the Turko-Afghan period. Wk
were its impacts on the society of yo
study? :

¢ on Ibn Batutah.

nificance of the Second Battle
! )7
Review the administrative policy of Sh

Shah with special reference to the influen
on Akbar, ' hanization?

# centres play a role in the

t significant event of
Category—II most signifi

it note on Harihara II.
sovereign ruler.
| ‘Silappadikaram’ and
Write a note on Mahmud Gawan of Bahmaj !
kingdom. , k.

wprigin and growth of Urdu

What were the results of the 1ntroduct1on
token currency reforms and enhancement |
Doab taxation at the time of Muhammad bj

What is your main source of 1nformatmn
this regard? 3

MR7/46




B II (Three Year Hj
Under 1+1+1 System

&l New Syllabus )

‘Full Marks : 100’
margin indicate full marks.

itegory—I
BNE, withinn 750 words
20x3=60

enit  sources for the
ughal Indian History? 20

¢ North-Western Policy of
with special reference




(2)

Was Shivaji guided by any ideology in 1
attempt to build a regional State? '

pal cities in Mughal India.
Write about different views of the historia

regarding the debate about i i : on Nadir Shah.
the 18th centu S

®  Important Bengali texts
Comment on the historical writings | ¢ 17th century.

Sir Jadunath Sarkar.
Write a note on forests in Mughal India. ] i

Write a brief note on textile manufacty i
industry in Mughal India.

‘ Category—IIr

Answer any four questions within 700 W‘
each : '

11. Evaluate Abul Faz] as a historian.

12. Define thé term ‘Watan Jagirs’,

MR7/100




B II (Three Year H)
Under 1+1+1 System

2017

1 RY (Honours)

Full Marks : 100
he margin indicate full marks.

~ Category—I

 questions within 750 words
' 20%3=60

context of Anglo-Mysore
asons of Hyder Ali’s success
8 failure.

ound and different phases

o-Maratha War. Did the

establish beyond dispute

of British as the controlling
n politics? 12+8=20

account of debate on
on in India. 20
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Evaluate the contributions of Raja ]
Mchan Roy in the making of modern India westions within 100 words
What were his limitations? 12+ 0 5x4=20

What led to the Ilaunching of Non ? How was it misused
Cooperation Movement? Do you agree tha hip of Mir Qasim? 2+3=5
Gandhiji himself was responsible for it

failure? 12+ hie provisions of the Treaty of

: W did it shatter the political
Outline the migration problem in India Ajit Singh? | 342=5
Do you think that the displaced persons o | |
West and East Pakistan were equally treatet . o e Teeaty of
in India? - 154

s on the Doctrine of Lapse.
Category—II ‘

te on Chuar Rebellion.

le of Dudhu Mian in the

7. Write in brief the subaltern approach fo
the understanding of modern Indias
nationalism.

How did the English East India Compan ell Plan? Why did it fail? 2+3=5
obtain the Dewani? What were its politica ; y
and economic impacts? = .. |

What were the contributions and limitatio
of revolutionary nationalism in India?

What were the main provisions of
Government of India Act of 19357

MR7/101 ( Contin




B III (Three Year H)
Under 1+1+1 System

B[I'TH PAPER

& New Syllabus )
Full Marks : 100

the margin indicate full marks.

‘Renaissance’. Give its

1d and effects on European
8+12=20

t State’? Was it a transitory
8? 6+14=20

the shift of economic

rent phases of the Thirty
Critically ~ discuss the

¢ Peace of Westphalia.
8+12=20

( Turn Over }




(2)

was its impact on 17th to 18th centu
European economy? 10+

What were the causes of the beginning of
Industrial Revolution in England?

mean by Copernican
Category—II

Answer any two questions within 350 words e

" i pnificance of the Glorious
Critically analyze the impact F

Reformation Movement in Europe.

its impact on Europe.

Write a short note on banking system |
early modern Europe. i

Independence on Europe.

Category—III

11. Define the termm ‘Humanism’,

the Treaty of Utrecht.

MR7/176




2 III (Three Year Hj
Under 1+1+1 System

6 New Syllabus )

Full Marks : 100

margin indicate full marks.

‘Category—I
uestions within 750 words
| 20x3=60

ole of intellectuals on the
n of 17897 20

# of Napoleon were ephemeral
- was built upon granite.”
ient. 20

Settlement of 1815. What
Europe? 14+6=20

of the unification of Germany
ship of Bismarck was

on or Prussian expansion. 20

( Turn Qver )




(2

5. What is Eastern Question? Did the Congr‘
-+ of Berlin (1878) really solve the Easte_
e Questmn?

What was the logic behind the French searc
for security and how did it affect Europea :
-~ diplomatic relation during the inter-We By incident?
period? '
on Locarno Pact.
Category—II ‘
‘ & on Mazzini.

ok ok ok

started in England?

Write a note on the emancipation of serfs
Russia.

Write a note on the Tripple Entente.

What were the factors which led to the rise @
Fascism in Italy?

Category—III

11. Who were Sans-culottes?

12. Who were Girondists?

MR7/177




B III (Three Year H)
Under 1+1+1 System

01 7

(Honours)

UNTH PAPER

%l New Syllabus )
Full Marks : 100
lie margin indicate full marks.

Category—I

# fuestions within 750 words
20x3=60

rn of the social structure in
20

10te on the Taiping Rebellion.
10+10=20

of Sun Yat-sen in the
of 1911. i 20

ent features of the Meiji
1889. Write a note on the -
12+8=20

{ Turn Over )




5.

Answer any two questions within 350 words ¢

7. Point out the causes of the First Opium Wa

8.

Answer any four questions within 700 words

11.

12,

(2)

What were the causes and consequences
the Russo-Japanese War? Why was Rus
defeated? :

Account | for the outbreak of 8
Sino-Japanese War in 1937. How did

develop into Global War?

Category—II

Write a note on the Hay Doctrine.

What were the causes of the downfall of t

Shogunate?

Why did Japan attack Pear] Harbour?

Category—III

Define the Treaty system.

What is May Fourth Movement?

MR7/178 .

a Conference in 1874.

- Five Power Treaty.




B III (Three Year H)
- Under 1+1+1 System

7

1 New Syllabus )

Full Marks : 100

argin indicate full marks.

f%filgoryh—l

sstions within 750 words
20%x3=60

lude that Truman Doctrine
i were designed to contain

20

ount for the division of
Second World War? What

il international politics?

14+6=20

it view that Non-Alignment

nt in the end of the Cold
20

{ Turn Over )




(2)

- Analyze the impact of ‘Glasnost’
‘Perestroika’ on Eastern Europe.

- Category—II

Answer any two questions within 350 words

Write a short note on ‘Warsaw Pact’.
Analyze the role of OPEC._
Define the term ‘Neo-Colonialism’.

- Analyze the significance of the Taliban rul e
Afghanistan. -

Category—III

Answer any four questions within 700 words =

11. Define NATO.

12. What is ‘Bipolar’ system?

MR7/179




